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P E B s E o] 8 1 (49,350 453,000
2=203]) - 1,440,0009 = ’
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- 960,0009] = 720,000
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FfEodn] 1 20,0009 +6H153]= 1,800,000
z‘jﬂ::ﬂz gofn] + (20,00090%13]) - 600,000 580,000
wolEAen] 1 50,0009 %4 #33]= 600,000
5. AR} F-F21H| 2,210 0 2,210 A FH 3] 7F3] ¢ 10,0009 %14 #43]= 560,000
Z}zol Qs Bl Aly] *10*53
;szodoigoi%f: H] @ (15,0009+108*53] 430,000
ZrE91 sl 1 20,000 9%4 #4.35]= 320,000
YRIZHEE79]  30,0009+55+63]= 900,000
3. ALY 4,506 0 4,506
1. duk=4n) 1,600 0 1,600 | AF-&-E79) © 10,0009+80%F+23]= 1,600,000
AR R AR ¢ 39,5009 #123]= 474,000
W OFA A H] AA} L7 . ©]x03]) -
jm,%otol%; 1= HE ¢ (39,5009%03]) 474,000
2. ofu] 2,906 0 2,906 ET;?(‘ESLJ'_(20’000%*35%*4'89@) -1,476,000
PEedn] 1 20,0009%35#73]= 4,900,000
A 9z=)I|&Aodn] . 2 #°
iéf 155?))— ﬂ;oigj)o]ﬂ :(ZOYOOOL*% 1,476,000
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EEER FolZ=oln B
‘(33*2._984251—;)— z?ooo,;j)oLd _(50,000 o 554,000
fﬁféﬁi‘ﬂ; (48,00091%23]) - 1904000
EER] ol Z=AFolu] <l
‘(33*2.1,4;_3;) —12,00?,030‘31(20’000&20 148,000
o] =AlodH] o ™x923]) —
2%0(1)0%0(6 ?"41: (43,40091+107823]) _1,132.000
#e)Egoln] 1 50,00090#20m#23]= 2,000,000
4.83PA%-2-4 500 0 500
1. 589 500 0 500 3%L;?;§?;§i§gx]zg BASHCEAT ) 500,000
2. PP A AN H & 38,236 36,566 1,670
1. YA (A A AR 7] 38,236 0 38,236
L7 AR 17 35,286 0 35,286| 1% : 1,823,0008%129= 21,876,000
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ZIFT 1 16,093Y#204 3= 322,000
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V5 60,0009 %129= 720,000
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P . (f ° IS
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